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QUESTION 1

An administrator configures two VSANs on an HP Comware IRF virtual switch. The IRF members connect to a server
with two Converged Network Adapters (CNAs) One CNA is connected to VSAN 1. and the 

other is connected to VSAN 2 The storage target for the server is also connected to VSAN 1 and VSAN 2. What is
required for this setup to work? 

A. The HP switch must place the ports connected to the server CNAs in a link aggregation set to static mode 

B. The server CNAs must support multi-path I/O (MPIO) 

C. The HP switch must place the ports connected to the server CNAs in a link aggregation set to dynamic (LACP)
mode 

D. The HP switch must support multi-path I/O (MPIO). 

Correct Answer: A 

 

QUESTION 2

A large data center needs to extend its Layer 2 connectivity and isolate tenants who might use the same VLAN IDs
Which technology accomplishes this goal? 

A. SPBM 

B. Data Center Bridging (DCB) 

C. Multi-VPN-Instance CE (MCE) 

D. TRILL 

Correct Answer: A 

 

QUESTION 3

To support FCoE traffic, a switch port needs to use Application TLVs to communicate application priority information to a
Converged Network Adapter (CNA). The setup process includes the configuration of an Access Control List (ACL).
What is a valid ACL? 

A. Advanced ACL that selects traffic by UDP source port 

B. Advanced ACL that selects traffic by TCP source port 

C. Standard ACL that selects traffic by source IP address 

D. Ethernet ACL that selects traffic by Ethertype 

Correct Answer: B 
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QUESTION 4

An administrator is configuring an HP switch to run SPBM. Which Spanning Tree Protocol (STP) configuration is
required? 

A. Disable STP. 

B. Ensure that the switch with the lowest IS-IS router ID has the lowest bridge priority. 

C. Set the spanning tree mode to ECT. 

D. Map all B-VLANs to MSTP instance 4092 

Correct Answer: D 

 

QUESTION 5

Which statement is correct about a Fibre Channel (FC) node-port (N-port) in a Storage Area Network (SAN) fabric
topology? 

A. It is a port on a SAN switch that connects to an initiator or target 

B. It is a port on a SAN switch that connects to a target but never to an initiator 

C. It is a port on an initiator but never a target, and it connects to an extension port (E-port). 

D. It is a port on an initiator or a target, and it connects to a fabric port (F-port) 

Correct Answer: C 

HP2-Z34 PDF Dumps HP2-Z34 VCE Dumps HP2-Z34 Study Guide

Powered by TCPDF (www.tcpdf.org)

HP2-Z34 PDF Dumps | HP2-Z34 VCE Dumps | HP2-Z34 Study Guide                                3 / 3

https://www.pass4itsure.com/hp2-z34.html
https://www.pass4itsure.com/hp2-z34.html
https://www.pass4itsure.com/hp2-z34.html
http://www.tcpdf.org
https://www.pass4itsure.com/hp2-z34.html
https://www.pass4itsure.com/hp2-z34.html
https://www.pass4itsure.com/hp2-z34.html

